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10.

11.

12.

m'ﬂﬂfﬂ}' possessed by a body for doing
‘Work by virtue of its position is called

(A} Chemical energy
(8) Kinetic enargy
(C) FPotantial energy
(B} None of the above

How many 3-digit numbars can be formed
from the digils 2, 3, 5, 6, 7 and 9, which
are divisible by 5 and nohe of the digits is
repeated ?

(A) 5 B) 20
(€} 10 D) 15
Primary colours are

(A) RGE (B WGB
(C) CYB (D) RYB

The district of Haryana that doss not share
s boundariss with any of the States or
Union Territory is

(A)  Rohtak (B) Sanipat

(C) Sirsa (D) Jind

Which of tha following district of Haryana
cover the largest arenguf forest? =

(A) Mewst (8) Rewari

(C) Panchkula (D) Rohtak

If twa systems P and O are in thermal
equilibrium with third system M, then

Pand Q are also in thermal equilibriem with
each other. This is following

(A} First law of thermodynamics
(B) Zeroth law of thermodynamics
(C) Second law of thermoedynamics
(D) Third law of thermodynamics

3, Which of the following novel narrates the

plight'of widows in India 7
(A) Godan
(C) AmarJiban (D) Chandrakanta

(B) YamunaParysiana
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14. Surface Imperfections such as minule

15.

16.

17.

18,

19,

21.

cavities, holes, porosities, cracks, atc. which
appear al frequent intervals and at random

localions arg cillad
(A} Lays
{C) Flaws

(B8) Waviness
(D) Prolile

il x is eal e minmumvakie of ¥ =Bx+ 175
(A) =1 (B) 2
(C) O D) 1

The total effort made by a manulacturer
o ensure that his products conform fo a

Oalalled s&! of specifications and standards
I§ KNowWn as

(A) Inspection

(B) Tolerance

(C) Qualty assurance
(D) Product quality

Saerver-side JavaScript Is also known as
{A) LiveWire (B) Query

(C) Bus (D) Secript

if 3 vertices of a Parallelogram ABCD are
Af1,2 3).B(-1.-2,=1)and C (2,3, 2)
(laken in ordar), then the 4™ vertex D is
(A) (4, -7, 8) (B} (3,7,6)

(C) (4,7, 6) D) (-4,7, 86)

Which ol the following State of India has
bicamaral legislature 7

{A) Maharashira (B) Tamil Nadu
{C) Rsjasthan (D) Gujarat

In Haryana, Sal trees are lound in

(A) Sonipatforests (B) Gurgaon forests
(C) Rohtak forests (D) Kalesar forests

Thauma&ndus&dbwhecuwanamai.
y=2sintis

(A) Bisq.units  (B) n8q, units

(C) 123sg.units (D) none of these

ofs
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15,
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17.

18.
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20.

21.
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22. \What s facing operation ?

(A) Bavelling the extreme end ofla
workpiece
(B) Machining the ends of il workpiece 1o

preduce a llat surface square with tha
axis

{C) Ernbusslﬂ_g a diamond shaped pattemn
on tha surface of a workpiece

(D) Reducing the diamater of a workplace
OVer a very narmow surface

» Maharshi Vad Vyasa wrote'Mahabharata
apic in

{A) Thanesar
(C) Kuruksheatra

(8) Kamnal
{0) Ambala

«  Which of the following Amendment bil to
the Constitution deais with the 10 parcent
reservation in jobs and educational institutions
to economically backward section in the
gensral catagory 7

(A) 112" Amandment bill

(B) 124" Amendmant bill

(C} 122 Amendment bill

(D) Moneof the above

» Which of the following factors specify the
grade of the files ?

(A) Teeth/10mm

(B) Width of the files

(C) Length of the files
(D) Shape of the files

Music of Pandit Jasra] belongs to which of
the following Gharanas?

(A) Agra (B) Kirana
(C) Gwallor (D) Mawati

« The loud pulsating nolse heard within the

aylinder of an IC engine is known as
(A) Supercharging (B) Pre-ignition
(C) Turbulence (D) Detonation
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2B,  Whao ig the fiint rmusam ruler of Dol and
g
(A) Kumampala
(B Cutd-Ld-gin Abak
(G Prtfrvira)
(0} Wuhammad Ghor
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Hmnunymm' of Cranksha revol o
Mmakos ong -
Shoiiat Complate cycls of 4 stroke cycle
A} 12
4
€)1 t{g: 2
“Koibut Lamjno National Parke
ilh
floating park in the workd. located rnﬁ
of the folawing North-East Ingian State 2
(A) Manigyr {B) Tripura
{Cy ‘Astim (9) Nagaiang
Ny=Jainy+y, then EE.
(A) Somx Bin X
! 2?_1 lTB'F 2?-‘
i Cosx anx
9 O 2y

The value of % for which the 2 veciors
8= |+2kand F + ij =k are perpendicuns s

(A) 2 (8) 8
c) < (O) -8
541 J3 -1
Hx= =
X :‘E-_'I“T m.mmm

Tho native tree of India which has been
declared as State tres of Haryana, this
tran la considered to Have a religlous

significance in three major religions ia
(A) Sandatwood (B} Peapnl

{C) Toak (0) Banyan

In how many ways can ihe lefters of the
word LEADER be armanged ?

A 72 @) 720

(C) 124 (£ 360

I’l-
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who was South Asia’s first

41, Tombol ______
fernale monarch is In Kaithal, Haryana
(&) Rani Padmini
(B) Noorahan
{C) Razia Sultana
(D) None ol the above

42, 4% ¢ 4% V4 4™ g divisible by
(A) 3 (B) 13
(C) 10 D] 1

43. Thevalee of I < K) = Il x K) + R-(i x|} =
(A) D B) 3
) —1 (D) 1

44. Whofounded the Slave gynasty al Dalhi 7
(&) Atbak (8) Babur
({C) Masud (D) Humayun

Which axis controls the carriage traval
toward or away from tha headstock in CNC
lathe 7

(A)
(B)
(C)
(D)

45,

Z-axis

K-axis

Y-axis

None of the above

Which of the following poet Is regarded as
the John Miton of Haryana 7

{A) Altal Hussaln Hall

(B) Kashmid Lal Zakir

(C) Dayachand Mayna

(D) Samartha Vashishtha

Who was the fourth Mughal Emperor 7
(A) Jahangir

(B) Humayun

(C) Akbar

47.

(D) ‘Babur

41.

42.

43,

44,

45,

46.

47,
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48. lIn

following s tha least 7
(A) 0

B) n?
{GI =N {D] n
49, W|mﬂwmmmnAGMEﬂumd?
(A) B0degrees (@) 29 dagrees
(C) ‘55 degrees (D) 37.5 degrees
50. Summer Olympics 2020 will bo hosted in
which of the following city ?
(A) New Delhi, India
(B} Tokyo, Japan
(C) Beijing, China
(D) Nene of the above
51. Campaign agalnst female fosticide Is
called
(A) Bhagva Jyoti
(B} Yatra Scheme
(C) Bet Bachao, Bati Padhao
(D) L=ady Police Scheme
52. Which of the following cycie is used in
Compression Ignition engines ?
(A) Otto cycle
(B) Dual combustion cycle
({C) Rankine cyole
(D) Dlesel cycle
53. What Is the vaiue of 1 calorie In terms of
joules ?
(A) 4.184joules  (B) 4184 joules
(C) 41.84joules (D) 4184 joules
54. Most of the computer controlled devices
make use of
(A) Sensors (B) Lights

Is & negative numbar then which of the

+§-

4a.

49,

50,

51.

52.

53,

54,
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57,

58,

58.

60.

61.

The saries limit for the Balmer saries of
lonised helium is [HH =1.08 x 10" ]
(A} 367 nm (B) Infinity

(C) 122 nm (D) 284 nm

Which Protocol is used 1o transtar binary
and text files over the intarnet 7
(A) HTTP (B) FTP
(C) UDP (©) TCP

Kalesar National Park Is situated in the
district of

(A) Panchkula (B) Yamunanagar
(C) Rewari (D) Sirsa

What is the factor of safaty ?

(A) Tensile strass/Tensile strain

(B) Decrease in length/Original length

(C) Compressive siress/Compressive
strain

(D) Utimate stress/Pemissibla siress

Ceordination number in hep structure Is
(A) B (B) 6

(C) 12 B) 4

Nickel brass is also called

(A) Invar (B) Cartridge brass
(C) French gold (D) German silver

Which of the followi rates drivi
mechanism in NC mm 7 e

(A) CLU (B) Magnetic box
(C) bPU (0) MCu

Jim Corbett National Park which Is the
oldest National Park in India to protect
the endangered Bengal Tiger s located
at which of ma_iallﬂwmg State 7

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Unarakhand

{D} None of the above

=10-

55. sty viferay ) ATEER suen 6 F@en
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63. The numberof bits tra
per unit time 1s nsferred by a channel

(A) Speed (B) Unit Rate
(C) Bandwidth (D) Broad Band

64. The capital of Haryana Is
(A) Gurugram (B) Chandigarh
(C) Sonipat (D) Bhiwanl

65. Who founded Agra in 1504 A.D. 7
(A) Sikandar Khan
(B) Muhammad Ghorl
(C) Masud
(D) Babur

66. The product of uncertainity in position Ax and
momenium Ap is approximately equal to

(A) & (B) 1
(C) e (D) O

67. The refrigerant for a refrigerator should
have

(A) High sensible heat
(B) Low sensible heat
(C) High latent heat
(D) Low latent heat

68. Thea holy lake that Brahma conceived the
‘garth at this place is

(A) Brahma sarovar (B) Bhindawas
(C) Surajkund (D) Sannihit

69. Who is famous with the name of Haryana
Kesari 7

(A) Devilal
(B) Pt Neki Ram Sharma
(C) BansilLal

(D) Bhagwat Dayal Sharma

-11-
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70,

71.

73.

74.

78,

The point on the curve y* = X, whare the
ungerﬂm&kﬂnnu@eu!%wfﬂuuksia

1 1
o (b

1 1
© (z3)
WTO is serving as the sucgessor for which
of the foliowing organisation 7
(A) PETA (B) UNDPF
(C) WHO {D} GATT

B8y (1, 1)

(D) (4,2)

Tha power developed inside the engine
cylinder is called

(A) Mechanical power
(B) Indicated power
(C) Frictional power
(D) Brake power
The medicinal piants and other non-wood
forest product should be protected, improved
and their production enhanced is the
objective of
(A} JFM
{C) HFD

(B) ARB
(D) HCF

The Man Booker Intemational Prize 2019
awarded fo which of the following Novel 7
(A) Seven Killings

(B) Mikman

(C) Celestial Bodies

(O] None of the above

Collection of letters, digits, punctustion

characters are called as

(A) Identiliers (B) Literals
(C) Variable (D) String
Stone tools of palaeciithic age

are found in

(A) Sirsa (8) Pinjore
(C) Hisar (D) Sonipat
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Add sultable question tag for the foliowing :

77. 1 am her chilg,
(A)
(B)
(C)

(D)

am| ?
aren't | ?
amn't | ?
are | ?

Fill in the blank with article

78. Sydney is
(A) the
(B) notneeded
(C) a
(D) an

beautiful cily,

Find out the erronaous part of the following
sentance :

‘Unless cne Is intelligent nothing was
taught.’

(A) unlessone s

(B) was taught

(C) s intelligent

(D) nothing

79.

Select the sentence which is grammatically correct
from the following sentences :

B0. (A) |had been to Bangalore two maonths
il
(B) She went to the pictures day before
yesterday

(C) She had gone to the party : last night

(D) Ameer went to Goa

10/2019 (02, 07, 21, 26)

Choosa the correct verb from the options to fill
in the blank :

81. Inthe next lew years, thousands of spaed

camaras on major roads.
(A) will appear

(8) appearing

() are appear

(D) None of the above

Select the appropriate option for the underdined
word in the question from the given options :

82. Salma worked hard and got
hamsell promoted,
(A} verb
(B) subject
(C) noun
(B) pronoun

Fill in the blank with appropriate modal :

83. |
(A)
(B)
(C)
(@)

do it, whatever happens

may
shall
might
will

Choosa the abstract noun from the santences

84. He spent his childhood in Mumbal,
(A) He
(8) Childhood
(C) His
(D) Mumbal

=13-
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551.

BY.

(A) 1 wEd & 37 5 Fwd B

(B) "k T AE M EM HEA D |

(C) =faa o=y % T o e A
B wea §

(D) ¥ =ufw & 3w wt wwa §

T 7 A g i
% AR |

(&) I T T WS e feram
¥ 355

(B) == aw e s % fer

(C) = Hi HE AW F o =fE
¥5 3@ A & 75 g

(D) TaeFe sTE A & o

T e A e R
(A) T

(B) T

(€) ufEand

(D) TreA

A g
o e, 3 S
I
(A) FH
(B) F=

(C) wEF

(D) HAA

89, T B FH] I Sl TG A7 8 7
(A) wfiy
(8) =fZ=r
(C) |

(0) fay

90. W + ItHE =

(A) WIETEHE
(B} WiHltHa
(C) wia

(D) WEEs




